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473 X
Ques-HW:- If\/l I =1+—
256 16
then what does x equal to ?
X T T JT ShifsTT 2
(A) 11
(B) 12
(C) 13

(D) 14
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Ques-1:- A path of 5 m in width 1s made on the inner part of the fence of a
rectangular field. If the length and breadth of the field 1s respectively 18 m and 15
m then find the area of the path.

Ueh STAATRR W o AN A TG HHT H T GSAT 5 | =S 1 ST 8 | Ffe @ I
TS, TTSTs ShAST: 18 Y. 3T 15 HY. 81 a AT ohl &%t JTd ehitor |

(A) 330 sq. m.
(B) 240 sq. m.
(C) 220 sq. m.
(D) 230 sq. m.
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Ques-1:- A path of 5 m in width 1s made on the inner part of the fence of a
rectangular field. If the length and breadth of the field 1s respectively 18 m and 15
m then find the area of the path.
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TS, TTSTs ShAST: 18 Y. 3T 15 HY. 81 a AT ohl &%t JTd ehitor |

(A) 330 sq. m.
(B) 240 sq. m.
(C) 220 sq. m.



TARGET MATHS- 25/25

Ques-2:- If the area of the in-circle of a square is 16Ttcm.?, then what will be the
area of the square?

f¢ Teh a1 o 3T T &1t 167U HHI.2 &, QT I ohT &Il o1 BT 2

(A) 64 cm.”
(B) 81 cm.’
(C) 100 cm.’
(D) 36 cm.?
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Ques-2:- If the area of the in-circle of a square is 16Ttcm.?, then what will be the
area of the square?

f¢ Teh a1 o 3T T &1t 167U HHI.2 &, QT I ohT &Il o1 BT 2

(B) 81 cm.’
(C) 100 cm.’
(D) 36 cm.?
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Ques-3:- Anupam invests Rs.50000 in a bond which gives interest at 3% per annum during the
first year, 5% during the second year and 8% during the third year. How much amount does he
get at the end of the third year?

IFIIH 50000 &. UH 11 H feIsT HTdT & S Tget a9 3% Sfcie™ =l & H, o Y 5% Fice hi et @
IR oo Ty 8% Tfdas ol S & SIS o B dTER N o 33 | 39 fehaT emaiisT foenti?

(A) Rs. 58104
(B) Rs. 58140
(C) Rs. 58410
(D) Rs. 58401
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Ques-3:- Anupam invests Rs.50000 in a bond which gives interest at 3% per annum during the
first year, 5% during the second year and 8% during the third year. How much amount does he
get at the end of the third year?

IFIIH 50000 &. UH 11 H feIsT HTdT & S Tget a9 3% Sfcie™ =l & H, o Y 5% Fice hi et @
IR TG I 8% Ufda hl 3T | oISl ad 8| A1 a9 o 37d | 34 TohaH1 griey faerfi?

(A) Rs. 58104
(B) Rs. 58140
(C) Rs. 58410
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Ques-4:- A man invests an amount of Rs.15860 in the names of his three sons Aman, Aakash
and Aryan in such a way that they get the same interest after 2, 3 and 4 years respectively. If
the rate of simple interest 1s 5%. The ratio of amount invested among Aman, Aakash and
Aryan will be-

Teh ATSHT 15860 %, 379 T J2T ST, STTRTIT 3T AR o 19 T 39 di& STHT hidT & foh 2, 3 31X
4 Y TS SHAST: 32 THT SITST UTH BI| IS "TERUT SATST shl T 5% BT T A, STTeRTIT 3T 3R
AT & ST foRdl T € T 31T ©-

(A)2:3:4
(B)3:4:6
(C)11:15:12
(D)6:4:3
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Ques-4:- A man invests an amount of Rs.15860 in the names of his three sons Aman, Aakash
and Aryan in such a way that they get the same interest after 2, 3 and 4 years respectively. If
the rate of simple interest 1s 5%. The ratio of amount invested among Aman, Aakash and
Aryan will be-
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Ques-5:- Two trains of lengths 300 m and 360 m respectively are running in opposite
directions on the parallel tracks. If their speeds be 100 km/hr and 116 km/hr respectively, in
what time will they cross each other?

S QTS AT Seht SISt shAsT: 300 Hi 371 360 W &, HHIT T2 0 Ueh g8l o Tl fawm o g
el & | afe 3kt it shst: 100 Forrt./eier ST 116 Tore. /et & [t ford woer o o T e i IR
T 2

(A) 22 sec
(B) 15 sec
(C) 11 sec
(D) 12 sec



TARGET MATHS- 25/25

Ques-5:- Two trains of lengths 300 m and 360 m respectively are running in opposite
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what time will they cross each other?

S QTS AT Seht SISt shAsT: 300 Hi 371 360 W &, HHIT T2 0 Ueh g8l o Tl fawm o g
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Ques-6:- A can complete a work 1n 12 days working 8 hours a day. B can complete the same
work 1n 8 days working 10 hours a day. If both A and B work together, working 8 hours a day,
in how many days can they complete the work?

A T&TH 8 52 hTH Xd §T 12 TerT H Toh s 9 o EehdT €| B fa | 10 5 6 1 8 f&T 8 3t
HTH %! I 3 HehdT 8| Al A 3T B ST Th A1 hTH hd 8, A1 fa H 8 B 1 teh, d fohed faT |
TH O L Tl &7

(a) 5 5/11 days

(b) 8 days

(c) 9 days

(d) 12 days
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Ques-6:- A can complete a work 1n 12 days working 8 hours a day. B can complete the same
work 1n 8 days working 10 hours a day. If both A and B work together, working 8 hours a day,
in how many days can they complete the work?

A T&TH 8 52 hTH Xd §T 12 TerT H Toh s 9 o EehdT €| B fa | 10 5 6 1 8 f&T 8 3t
HTH %! I 3 HehdT 8| Al A 3T B ST Th A1 hTH hd 8, A1 fa H 8 B 1 teh, d fohed faT |
TH O L Tl &7

(b) 8 days
(¢) 9 days
(d) 12 days
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Ques-7:- The income of A, B and C are in the ratio 3 : 7 : 4 and their expenses in the ratio 4 : 3
: 5. If A saves Rs.300 out of an income of Rs.2400, the sum of savings of B and C 1s
A,BHRCH AT A3 : 7 : 4 3 SR IAeh @A H A 4 : 3 : 52| A A, £.2400 T 3T
TOE 300 H Tad HATS | B AR C HT Iad HT AN |

(A) Rs.4200

(B) Rs.4600

(C) Rs.4275

(D) Rs.4475
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: 5. If A saves Rs.300 out of an income of Rs.2400, the sum of savings of B and C 1s
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Ques-8:- In an election between two candidates, 10% of the voters did not cast their votes
while 10% of the vote polled were declared invalid. If the winning candidate got 54% of the
valid votes and won by 1620 votes then find the total number of voters in the voter list.

a1 SFIEERT o sfTe Ueh <TG H, 10% ARGl 5 370 J1E T8l STcd, STelich HAa™ o 10% Ad Y
BT fohe T e forstefl SrHieam shl 54% o9 A firet 3T 1620 Hal | oSl g, df weerdn g=i |
R RE RIS CIREIS |

(A) 35000

(B) 33000

(C) 25000

(D) 40000
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Ques-8:- In an election between two candidates, 10% of the voters did not cast their votes
while 10% of the vote polled were declared invalid. If the winning candidate got 54% of the
valid votes and won by 1620 votes then find the total number of voters in the voter list.

a1 SFIEERT o sfTe Ueh <TG H, 10% ARGl 5 370 J1E T8l STcd, STelich HAa™ o 10% Ad Y
BT fohe T e forstefl SrHieam shl 54% o9 A firet 3T 1620 Hal | oSl g, df weerdn g=i |
R RE RIS CIREIS |

(A) 35000

(B) 33000

(D) 40000
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Ques-9:- A person sells an article at a profit of 10%. If he had bought the article at 5% less
cost and sold for Rs.80 more. He would have gained 20%. The cost price of the article 1s

ek STk 10% oh ATH I Ueh oI ST 2l 3T 39 5% HH hifd I oig TRIeT 9T 37T Rs.80 3Tk
T S Tl 3 20% T HIET GAT IR T ol AT 7o &

(A) Rs.3200

(B) Rs.2500

(C) Rs.2400

(D) Rs.2000
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Ques-9:- A person sells an article at a profit of 10%. If he had bought the article at 5% less
cost and sold for Rs.80 more. He would have gained 20%. The cost price of the article 1s

ek STk 10% oh ATH I Ueh oI ST 2l 3T 39 5% HH hifd I oig TRIeT 9T 37T Rs.80 3Tk
T S Tl 3 20% T HIET GAT IR T ol AT 7o &

(A) Rs.3200

(B) Rs.2500

(C) Rs.2400
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Ques-10:- 20 litres of mixture contains milk and water 1n the ratio of 3: 1. Then the amount
of milk to be added to the mixture so as to have milk and water in ratio 5: 1 1s

20 fte forgror o 3: 1. o AUt W e AR AT =Iar 21 T forsror of ger ot AT sk feretran S € arfer
4T 5: lﬁ‘q’g?:ﬁ'{ﬁg}

(A) 10
(B) 8
(©)5
(D) 1
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Ques-10:- 20 litres of mixture contains milk and water 1n the ratio of 3: 1. Then the amount
of milk to be added to the mixture so as to have milk and water in ratio 5: 1 1s

20 fte forgror o 3: 1. o AUt W e AR AT =Iar 21 T forsror of ger ot AT sk feretran S € arfer
4T 5: lﬁ‘q’g?:ﬁ'{ﬁg}

(B) 8
OF
(D) 1
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Ques-11:- If x>+ y* + 2y + 4x + 5 = 0 then what is the value of ?
Ife x2+ y2 + 2y + 4x + 5 = 0 O T HTH T 87

GVE
(B)-3
(C) -4
(D) 4
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Ques-11:- If x>+ y* + 2y + 4x + 5 = 0 then what is the value of ?
Ife x2+ y2 + 2y + 4x + 5 = 0 O T HTH T 87

GVE

OF
(D) 4
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Ques-12:- A boat rows downstream 21 km in 105 minutes and upstream in 180 minutes. What
1s the time taken by the boat to travel a distance of 323 km 1in still water?

T ATel e 7 21 foreft sht gt 105 foefe o 37 Sreaisfame H 180 e o o shtdll € | w11 SfeT |
323 fopeft ot gl a0 ot o ToTe 1 g forarm Trarm e apa 22

(A) 31
(B) 32
(C) 33
(D) 34
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Ques-12:- A boat rows downstream 21 km in 105 minutes and upstream in 180 minutes. What
1s the time taken by the boat to travel a distance of 323 km 1in still water?

T ATel e 7 21 foreft sht gt 105 foefe o 37 Sreaisfame H 180 e o o shtdll € | w11 SfeT |
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Ques-13:- X2+4y2+72+3=2x+4y+2z, then find x+y+z ?

afe X2+4y2+72+3=2x+4y+2z, dl x+y+z &l AT AT HITST ?

INPE
(B) 1.5
(O)K!
(D)5
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Ques-13:- X2+4y2+72+3=2x+4y+2z, then find x+y+z ?

afe X2+4y2+72+3=2x+4y+2z, dl x+y+z &l AT AT HITST ?

(B) 1.5
©)3
(D) 5
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Ques-14:- The acid and water in two vessels A and B are in the ratio 4: 3 and 2: 3. In what
ratio should the liquids in both the vessels be mixed to obtain a new mixture in vessel
containing half acid and half water?

AT A 3R B T 317 AT Ut Y WTAT ST 4 : 3 3R 2 1 3 3 UTA H ¥l AETAR I Frsront
" C a1 § Tk 74T fsror qar & o fo1u 37 forer stqura o farermn =iz, anfes mo fagor
S I UTT T 4T Sref-stmeft gt e

INE
(B) 5: 7
(C)7: 3
(D) 5: 3
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Ques-14:- The acid and water in two vessels A and B are in the ratio 4: 3 and 2: 3. In what
ratio should the liquids in both the vessels be mixed to obtain a new mixture in vessel
containing half acid and half water?

AT A 3R B T 317 AT Ut Y WTAT ST 4 : 3 3R 2 1 3 3 UTA H ¥l AETAR I Frsront
" C a1 § Tk 74T fsror qar & o fo1u 37 forer stqura o farermn =iz, anfes mo fagor
S I UTT T 4T Sref-stmeft gt e

(B) 5: 7
(C)7: 3
(D) 5: 3
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1
Ques-15:- If @) x*+—=3

then find the value (T WT- FIT BT )

1

X5+)F=?

(A) 112
(B) 123
(C) 110
(D) 91
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1
Ques-15:- If @) x*+—=3

then find the value (T WT- FIT BT )
|

X5+)F=?

(A) 112

(C) 110
(D) 91
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Ques-16:- Two trains are travelling in the same directions at 22.5 km/h and 7.5 km/h
respectively. The faster train crosses a man sitting in the slower train in 18 sec. What is the
length of the faster train?

S0 3 HU: 22.5 TRt / wret @it 7.5 foptft/ s frfa A un S Rom A o e @ 8 | A=t |
A ATAT S, e 37 W IS Ueh TSHT Y 18 Tehg W IR Il 8 | dSi & A JTAT & <hl

TS AT B2

(A) 50
(B) 125
(C) 75
(D) 100
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Ques-16:- Two trains are travelling in the same directions at 22.5 km/h and 7.5 km/h
respectively. The faster train crosses a man sitting in the slower train in 18 sec. What is the
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Ques-17:- The average of 4 consecutive even number is 27. Find the largest number?

4 SRATTA H TEATSY T 31 27 Tl T8 ST G&AT [T hITU?

(A) 30
(B) 28
(C) 32
(D) 36
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Ques-17:- The average of 4 consecutive even number is 27. Find the largest number?

4 SRATTA H TEATSY T 31 27 Tl T8 ST G&AT [T hITU?

(B) 28
(C) 32
(D) 36
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Ques-18:- A man’s age is 150% of what it was 10 years ago, but 75% of what it will be after
10 years. What is his present age?

10 TTeT TS Uk JTSHT ohl ST 150% oY, SR 10% % F12 T8 75% BT IThT TAHT IH T
22

R

(B) 30

(OFE

KE
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Ques-18:- A man’s age is 150% of what it was 10 years ago, but 75% of what it will be after
10 years. What is his present age?

10 TTeT TS Uk JTSHT ohl ST 150% oY, SR 10% % F12 T8 75% BT IThT TAHT IH T
22
R

(C) 25
RE
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Ques-19:- Find the product of all the prime numbers lies between 80 to 90 ?
80 & 90 o st THT AW ATATAT T TUHAES FTA bl

(A) 6723

(B) 5849901

(C) 7387

(D) 7221
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